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Exam Id
Name:
Exam Date: 10-Mar-2023
Module Name: TEACHERS
Duration 120
Batch: 15:30-17:30
1) General Studies
Question No. 1 1.00
Bookmark

The International Earth Day is observed annually on:
696 Q7 2ISHIER 9P @29 (International Earth Day) QIRG GQUSIN?
(A) O April 22 (Correct Alternative) (Choosen Option)
ggm 22 (Correct Alternative) (Choosen Option)
(B) O July 22
gRIR 22
(C) O May 22
@ 22
(D) O June 22
Qe 22

Question No. 2 1.00

Bookmark

Who among the following founded the "Swadesh Bandhab Samiti"?
FINGIeR F1UQ G4 "g69dl QIR AT (Swadesh Bandhab Samiti)" 5108 @Q@l6m?
(A) O Lala Lajpat Rai

miml MILDe U
(B) © Mahatma Gandhi

a121¢)l SIS
(C) © Ashwini Kumar Dutta (Correct Alternative) (Choosen Option)

2 gAIR €8 (Correct Alternative) (Choosen Option)
(D) O SC Bose

4. 4. 6919 (SC Bose)

Question No. 3 1.00

Bookmark
Which of the following Articles of the Indian Constitution empowers the president to declare a national
emergency when the security of India or a part of it is threatened by war or external aggression or armed
rebellion?

QUSRI ARIFR FIMES FUQ 689 IR, QYT RIF1E FRA AREE (national emergency) 64IS4ll
ARQIg FAGI JRIF K6R 6L6G696R QUNGH Il FeY ILIQ IR 2°¢l, & @l Q1LY 268 @l 69 F6Qle
I S99 §97?
(A) O Article 331
IR 331
(B) O Article 360
&ligl 360
(C) O Article 352 (Correct Alternative) (Choosen Option)
IRl 352 (Correct Alternative) (Choosen Option)
(D) O Article 356
gl 356

Question No. 4 1.00

Bookmark
Which of the following parts of the Indian Constitution deals with 'Citizenship'?

QUAG1D ARG FIRYE 69Q QG 'FIFRRE (Citizenship)' 986 8GS?
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(A) O Partl
WUol |

(B) O Part XVII
WIS XVII

(C) © Partll (Correct Alternative) (Choosen Option)
@9l Il (Correct Alternative) (Choosen Option)

(D) O PartVi
W9l VI
Question No. 5 1.00
Bookmark
Who among the following Freedom fighters has raised the slogan “Freedom is my birthright and | shall
have it"?

et 6QQ QAISSI CeGlIEH “YRNSE! 6519 RGSIS 2RI Qe ?i\‘l@l QIR K9G (Freedom is my
birthright and | shall have it)” 65I9lIa 69RRF?
(A) ©O Dadabhai Naoroji
QIQINIR FEAUW
(B) © Bal Gangadhar Tilak (Correct Alternative) (Choosen Option)
Sl SIGPRIQ GRS (Correct Alternative) (Choosen Option)
(C) O Gopal Krishna Gokhale
60lldin fF 6ollslem
(D) O Lala Lajpat Rai
il MG QUL

Question No. 6 1.00
Bookmark
Which among the following Institutions, has the sole right to issue bank notes of all denominations
(except T 1 note)? ] _
G619 YR SUIF 61 (% 1 6016 SYTE) UORE 0S| AN 699F 699 °GIR RIFI 2R ?
(A) O Union Finance Ministry
698 22l C1GIRLL (Union Finance Ministry)
(B) © Reserve Bank of India (Correct Alternative) (Choosen Option)
RQAUNB1Y ARG SUIF (Reserve Bank of India) (Correct Alternative) (Choosen Option)
(C) O Bank Association of India
QUIE 216219996 2l @&l2ll (Bank Association of India)
(D) © Banks Board Bureau
QUIe 6Q1E QU6Ql (Banks Board Bureau)

Question No. 7 1.00
Bookmark
The Tropical grasslands in Brazil are known as:
FIAMER 2]l G181, FEQE (Tropical grasslands) _ @I6S @&lIgEI 26T |
(A) O Llanos
mlegld (Llanos)
(B) © Campos (Correct Alternative)
16119 (Campos) (Correct Alternative)
(C) © Savanna
diQlel (Savanna)
(D) © Pampas (Choosen Option)
digtiel (Pampas) (Choosen Option)

Question No. 8 1.00
Bookmark
Which of the following Articles of the Indian Constitution directs the state "to promote equal justice and to
provide free legal aid to the poor"?

"IReG fgm ARG 6491 99IF ARSI 98¢ Aelle @YIKSYSZIR 99IR @RS (to promote equal justice and to
provide free legal aid to the poor)" CIR QIRGIA FRICR 682 IR AL, IR Feas AR?
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(A) O Article 39A (Correct Alternative) (Choosen Option)
A9 39A (Correct Alternative) (Choosen Option)
(B) O Article 44
QU 44
(C) O Article 40
AU 40
(D) O Article 38
K 38

Question No. 9 1.00

Bookmark
Which of the following soil types is also known as 'Regur Soil'?

FYRYES 659 IRIND AR DTN €A (Regur Soil)' QIS 13 R4 21662
(A) O Red Soil

6MITS €189 (Red Soil)
(B) O Alluvial Soil

dg IS (Alluvial Soil)
(C) © Black Soil (Correct Alternative) (Choosen Option)

a9 ?]QG?I (Black Soil) (Correct Alternative) (Choosen Option)
(D) O Laterite Soil

cIFS! AR (Laterite Soil)

Question No. 10 1.00

Bookmark
Who was the first finance minister of Independent India?

QI1e QNS gala 22 ag1 &9 2em?
(A) O Jawaharlal Nehru
LRRILIAMIM 696EQ (Jawaharlal Nehru)
(B) O R.K.Shanmugham Chetty (Correct Alternative)
2Io. 69. 9I9€]oll 6651 (R.K. Shanmugham Chetty) (Correct Alternative)
(C) O M.N. Roy (Choosen Option)
%1, 9. Q6% (M.N. Roy) (Choosen Option)
(D) © Indira Gandhi
@&l lIF1 (Indira Gandhi)

Question No. 11 1.00
Bookmark
When was the World Trade Organisation founded?
Q¢ Q8R4 9°8l (World Trade Organisation) 6369 198 QQKIR2IMI?
(A) O 1975
1975
(B) O 2005
2005
(C) O 1995 (Correct Alternative) (Choosen Option)
1995 (Correct Alternative) (Choosen Option)
(D) O 1985
1985

Question No. 12 1.00
Bookmark
In the year 1526, the first Battle of Panipat was fought between the armies of
od 1526 690 @ 6AQURITMR F1RIER FRIF AIFAS LN (first Battle of Panipat) 62IReR I
(A) O Bahlul Lodi and Muhammad Ghori
QILIRM 6AIA1 6 ILRS 6L
(B) O Daulat Khan Lodi and Muhammad Ghazni
691G HIF 6RIRT 6 (2R JGT
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(C) O Sikandar Khan Lodi and Babur
Jeeq ¢ie 6MIQT 6 QIR

(D) O Ibrahim Lodi and Babur (Correct Alternative) (Choosen Option)
QFITE 6MQ1 B ISR (Correct Alternative) (Choosen Option)

Question No. 13 1.00

Bookmark
Which of the following Constitutional Amendment Acts transferred five subjects from 'State List' to
'‘Concurrent List'?

FINGS 68Q RIS D6ERIS AYFAFER 'NURY GIRRI (State List) Q A6CHIT F9AG ‘Y9 SRS

(Concurrent List) § 219182 @QudI@wemI?

(A) O 42nd Constitutional Amendment Act (Correct Alternative) (Choosen Option)
4200 IS A°65IIIS 2IRIGAE (42th Constitutional Amendment Act) (Correct Alternative)
(Choosen Option)

(B) © 61st Constitutional Amendment Act
6107 AFRIG A°6EIRIG 2RIGLE (B1th Constitutional Amendment Act)

(C) O 44th Constitutional Amendment Act
44091 RIS Lo6EIRIT 2RIFLS (44th Constitutional Amendment Act)

(D) O 67th Constitutional Amendment Act
6797 JFRIG Lo6HIRIG EI&JG‘EA‘EI (67th Constitutional Amendment Act)

Question No. 14 1.00

Bookmark
Which of the following lakes in India is known for floating landmasses called phumdis?

FINYS LRAINS FIQ 696 88, QULFIE QEIRA (floating landmasses) IR R&Ig4I 266, LILlg FOIT
(phumdis) @EldiN?
(A) O Loktak Lake (Correct Alternative) (Choosen Option)
emiaeIe €e (Loktak Lake) (Correct Alternative) (Choosen Option)
(B) O Vembanad lake
619 29 (Vembanad lake)
(C) O Sasthamkotta Lake
SILGI£16RIF €9 (Sasthamkotta Lake)
(D) O Lingambudhi lake
MEPEIgYl €9 (Lingambudhi lake)

Question No. 15 1.00

Bookmark
Which of the following elements is responsible for Minamata disease?

ARIEIS! 69UG (Minamata disease) DI SRS 690 QUGG TR 265?
(A) O Tetraethyllead
650IRlIaMRES (Tetraethyllead)
(B) © Methylmercury (Correct Alternative) (Choosen Option)
ﬁalmmﬂs:{m (Methylmercury) (Correct Alternative) (Choosen Option)
(C) O Beryllium
6RGImMAe (Beryllium)
(D) O Ethylcadmium
QURRRUISTE (Ethylcadmium)

Question No. 16 1.00
Bookmark
'Snow Leopard' is placed under which category of the IUCN's Red List of Threatened Species?
@S9 @IS (Threatened Species) QIR IUCN 9 696 M (IUCN's Red List) 699 6816169 69 MBAIE
(Snow Leopard)' & QEAR@?
(A) O Vulnerable (Correct Alternative)
S99 996l (Vulnerable) (Correct Alternative)
(B) O Extinct in the Wild
SRY SFYR1 (Extinct in the Wild)
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(C) O Critically Endangered
2E S4914S, (Critically Endangered)
(D) © Endangered (Choosen Option)
Q991 (Endangered) (Choosen Option)

Question No. 17 1.00

Bookmark
Soon after the Nagpur Indian National Congress session in 1920, the Utkal Union Conference was held at
Chakradharpur under the presidentship of:

1920 7192162 FIFYR VUASIL RIS [°691< 2661Q (Nagpur Indian National Congress session) @ 0%
e @ UFCIEA SRIAYRER QR PTG FRPEAR, (Utkal Union Conference) 9 2I6AURS
@I m] ?
(A) O Madhusudan Das (Choosen Option)
1R99% @19 (Choosen Option)
(B) © Jagabandhu Singh (Correct Alternative)
@619g 4° (Correct Alternative)
(C) © Gopal Chandra Praharaj
60lldif P9 dEUa
(D) O Gouri Shankar Ray
6ol QUL

Question No. 18 1.00

Bookmark
The trees such as Teak, Sal, Shisham, Hurra and Mahua are commonly found in which of the following
types of forests in India?

SIS (Teak), SR (Sal), Q€1 (Shisham), @8 (Hurra) 98° £1g2 (Mahua) @f 98 QURASER FIRES
£3Q IRINQ KPMER ARINE NUET 6QHRIG Firelld ?
(A) O Tropical Moist Deciduous Forests (Correct Alternative)
1918 21g agesIT 2ANEN (Tropical Moist Deciduous Forests) (Correct Alternative)
(B) © Tropical Evergreen Forests
FIS1E FALRE 2AXEN (Tropical Evergreen Forests)
(C) © Temperate Deciduous forests
QITEN6SIY TE651IS ARG (Temperate Deciduous forests)
(D) © Tropical Thorn Forests (Choosen Option)
I, K6l @9 (Tropical Thorn Forests) (Choosen Option)

Question No. 19 1.00

Bookmark
Who among the following is the author of the book "Planned Economy for India"?

FANGeR FUQ B9, 'GIee R6RI6FIT Pa @82’ (Planned Economy for India) J989 6mEIR 2587
(A) O M. Visvesvaraya (Correct Alternative) (Choosen Option)
¢l §6g§IRUL (M. Visvesvaraya) (Correct Alternative) (Choosen Option)
(B) © M.S. Swaminathan
el 94, Ingide (M.S. Swaminathan)
(C) © M.N.Roy
el 99, 9k (M.N. Roy)
(D) © Mahalanobis
F19IMER1S¢ (Mahalanobis)

Question No. 20 1.00
Bookmark
The Rhine valley and the Vosges Mountain in Europe are examples of s
£691d6% 291 UG AdeUR (Rhine valley) ¥9° 6W146Wd aAee (Vosges Mountain) QA
QLQILE 26T |

(A) O Plateau System
QUGURI déllm (Plateau System)
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(B) O Block Mountain System (Correct Alternative)

g9d aee délim1 (Block Mountain System) (Correct Alternative)
(C) O Fold Mountain System

QEPFIR 996 g&IRT (Fold Mountain System)
(D) © Volcanic Mountain System

21696, ISC IR (Volcanic Mountain System)

Question No. 21 1.00

Bookmark
In which among the following subjects, the parliament of India has exclusive power to make laws as per
Indian Constitution?

FaAnge 660 SHER RGP ARG 299169 ARG LS KRG IR QISSS 2°9eQ 96Q A 2R ?
(A) O Police
69Ifmg (Police)
(B) O Agriculture
o8
(C) O Banking (Correct Alternative) (Choosen Option)
QUIGGP (Banking) (Correct Alternative) (Choosen Option)
(D) O Education
aal

Question No. 22 1.00
Bookmark
In which year, was the Gandhi-lrwin pact signed?
699 (192169 JIN1-R9Ee AURRIEN (Gandhi-lrwin pact) JI9R 6TMI?
(A) O 1900
1900
(B) O 1944
1944
(C) O 1931 (Correct Alternative) (Choosen Option)
1931 (Correct Alternative) (Choosen Option)
(D) 1915
1915

Question No. 23 1.00
Bookmark
Who among the following has the authority to certify a bill as a Money Bill?
FINYER FRIQ A9, 66159 F6r1aR (bill) §, 2¢] F6219R (Money Bill) U6 1991 66%1 QIR 2N Q1Y
2A88?
(A) © Chairman of Rajya Sabha
[l 2N
(B) O Speaker of Lok Sabha (Correct Alternative) (Choosen Option)
6MIG 96l 91596 (Correct Alternative) (Choosen Option)
(C) O President of India
QUALA QUYAT
(D) © Prime Minister of India
WA ellaeigl

Question No. 24 1.00

Bookmark
Who among the following started a journal 'Rast Goftar'?
fIngea FRIQ &9 QI 66IIPSIA ('Rast Goftar') @IFIe G gRl8 a526m?
(A) O Chittaranjan Das
FREq Qg
(B) O Abul Kalam Azad
2d9m SIMIe 2lwlQ
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(C) O Dadabhai Naoroji (Correct Alternative)
QIRIRNURN F6RUR (Correct Alternative)

(D) O Syed Ahmad Khan (Choosen Option)
64Q ALAS SIS (Choosen Option)

Question No. 25 1.00
Bookmark
Who was the Viceroy of India when the Rowlatt Act was passed in 19197
1919 FALI6R UG, 2L (Rowlatt Act) TIREG 689 AFKER B9 QINCR QARG UG (Viceroy) 2lem?
(A) O Lord Irwin
A% 29@8 (Lord Irwin)
(B) © Lord Earl Reading
AE 2R 8&° (Lord Earl Reading)
(C) O Lord Chelmsford (Correct Alternative) (Choosen Option)
ME 69€6€PIE (Lord Chelmsford) (Correct Alternative) (Choosen Option)
(D) © Lord Curzon
ME SGE (Lord Curzon)

Question No. 26 1.00
Bookmark
Which of the following river systems has River Wainganga as its tributary?
aanse 609 GO1 QIR 6ERGIEPI (Wainganga) 651I5" Qaa1 2657
(A) O Ganga
ol P |
(B) O Cauvery
RleQN
(C) O Godavari (Correct Alternative)
69l ISR (Correct Alternative)
(D) O Krishna
Q¥

Question No. 27 1.00

Bookmark

The NITI Aayog's precursor, the Planning Commission was established by the Government of India in the
year:
NITI 2lleLEIo QQ‘(@‘J, 6dlwe| 2l6Lsl (Planning Commission) 600 od QUG 9991 TN 108
UL mI?
(A) O 1950 (Correct Alternative)

1950 (Correct Alternative)
(B) O 1951 (Choosen Option)

1951 (Choosen Option)
(C)O 1948

1948
(DY O 1949

1949

Question No. 28 1.00
Bookmark
Which of the following Zones lies between Tropic of Cancer and Tropic of Capricorn?
DANYS 692 ALR (Zones), ART BI8 B AXRQ FIT FRIER ASTS ?
(A) O Frigid Zone
@¢1 €165 (Frigid Zone)
(B) © Torrid zone (Correct Alternative)
QY 2598 Y 28R (Torrid zone) (Correct Alternative)
(C) O Arctic Zone
LRACTIQ 2GR (Arctic Zone)
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(D) O Temperate zone (Choosen Option)
FISENERIY 28R (Temperate zone) (Choosen Option)

Question No. 29 1.00
Bookmark
Which of the following Mathara dynasty rulers transferred his capital from Simhapura to Pishtapura?
F1elIRU AURK°E (Mathara dynasty)Q SIRYE 60@ GIdR SIER AURAUNG D°QUYR (Simhapura) Q TRI
(Pishtapura) § SIFIS2 @RR2I6M?
(A) ©O Umavarman (Choosen Option)
QENREIG (Choosen Option)
(B) O Saktivarman (Correct Alternative)
SIDREQ (Correct Alternative)
(C) O Sankarvarman
a@aedie
(D) O Vishakha Varman
Qalsl e¢elg

Question No. 30 1.00
Bookmark
How many commercial banks were nationalised in India in the year 19697
1969 F19RIER QINBER 6R60IT QIERYR YIS (commercial banks) Q QUYIARRE! (nationalised) 6LMI?
(A) O 20
20
(B) O 14 (Correct Alternative) (Choosen Option)
14 (Correct Alternative) (Choosen Option)
€O 24
24
(D) O 10
10

2) Arithmetic

Question No. 1 1.00

Bookmark

The ratio of number of girls and boys in a school of 4140 students is 34:35. How many more girls should
be admitted to make the ratio 1:17?
4140 @6l qQuleh 2lQ1 6515 YRR QRS B QIRRAISE I°HIQ AGUIS 34:35 26T | I€ 2QAIeq 1:1 @<
AR, AR 6968 Gél QRS FIF 6ANIDRI 2LEYR?
(A) O 65

65
(B)Q 75

75
(C) O 60 (Correct Alternative) (Choosen Option)

60 (Correct Alternative) (Choosen Option)
(D)O 70

70

Question No. 2 1.00

Bookmark
Which of the following is divisible by 127

FImEIe CRIQ 699% 12 TIN FAURY 6897?
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(A) O 1221468933
1221468933

(B) O 1221468938
1221468938

(C) O 1221468942
1221468942

(D) O 1221468924 (Correct Alternative) (Choosen Option)
1221468924 (Correct Alternative) (Choosen Option)

Question No. 3 1.00
Bookmark
The sum of two numbers is 192. If one-fourth of the one exceeds one-seventh of the other by 4, find the
bigger number.
GRG QoI AT 192 26T | AT 63159 LU QQ-QQE]I%‘;I, 224 2GR IR-LGe°TIQ 4 2RI 9, 6669
QG LT Fda ax |
(A) O 112 (Correct Alternative) (Choosen Option)
112 (Correct Alternative) (Choosen Option)
(B) O 142
142
(€C) O 132
132
(D)O 122
122

Question No. 4 1.00
Bookmark
¥ 1222 is divided among 2X, 6Y and 8Z so that the shares of X, Y and Z are in the ratio 3:2:1. Then, how
much does X get? (In )
1222 G 2X, 6Y ( 8Z F1RIEQ IEQ QEIGIRI, 6ITR X, Y 8 Z QA QU9 3:2:1 AGAUGER QE6R | X 6966 ARS?
(R 69
(A) O 147
147
(B) O 141 (Correct Alternative)
141 (Correct Alternative)
(C)O 143
143
(D) 145
145

Question No. 5 1.00
Bookmark
The average age of 9 students is 12 years. If 2 more students of age 17 and 18 years join, then their
average age will become:
9 08 AU LINTIRA 94 12 98 265 1 97 17 3 18 @d Sad 29l 2l)a 2 Wél QQuIch 6219 QAT 6069
6AFIRRA TINTIR AL 69Q |
(A) O 17
17
(B)O 15
15
€)oo n
11
(D) © 13 (Correct Alternative) (Choosen Option)
13 (Correct Alternative) (Choosen Option)

Question No. 6 1.00
Bookmark
Anderws can do a piece of work in 936 days. If Carsen is 30% more efficient than Anderws, find the
number of days taken by Carsen to do the same piece of work.
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21§} 69115~ QINQ 936 GRE0 QAAIER 1 AT QINEER, &S L6AAI 30% B)@ QY
QY £ 6969 AR AI4g Al RDQ AN FINEIRG 6R6E AR AIGQ?

(A) O 730
730
(B) O 750
750
(C) O 720 (Correct Alternative) (Choosen Option)
720 (Correct Alternative) (Choosen Option)
(D) O 740
740

Question No. 7 1.00

Bookmark

Find the value of x.
V6724/41 - V4761 + V10609 % 7 = x
X Q el @8 2 |
V6724/41 - V4761 + V10609 x 7 = x
(A) O 674

674
(B) O 684

684
(C) O 654 (Correct Alternative)

654 (Correct Alternative)
(D) O 664

664

Question No. 8 1.00
Bookmark
The average of 5 terms is 71. If the first 4 terms are 46, 44, 117 and 83, what will be the last term?
55 °6lIQ LIQULIR 71 6T | OG galfl 4 T o651l 46, 44, 117 (G 83 99 666% 6919 A°GIUIT 6066 6887
(A) O 59
59
(B) O 63
63
(C) O 65 (Correct Alternative) (Choosen Option)
65 (Correct Alternative) (Choosen Option)

@O 61
61

Question No. 9 1.00
Bookmark
The LCM of two numbers is 2520 and their ratio is 35:36. Find the two numbers.
9RG IR M.€1.9. 2520 9Q° AR 2GS 35:36 26T | L6l 9RT Fdd @R |
AO 71,72
71,72
(B) O 70,72 (Correct Alternative) (Choosen Option)
70, 72 (Correct Alternative) (Choosen Option)
(C)O 74,75
74,75
(DO 72,73
72,73

Question No. 10 1.00

Bookmark
Find the Total surface area of cuboid, whose length, breadth and heights are 23cm, 25cm and 27cm

respectively. (In cm2)
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6QdlY, g9 6 ABS! YRUIFEE 23cm, 25cm B 27cm 2K 691G AXSAFR elg JYSRN 6VLTH Félal aa |
(cm? 69)
(A) O 3842

3842

(B) O 3742 (Correct Alternative)
3742 (Correct Alternative)
(C) O 3642
3642
(D) O 3942
3942

Question No. 11 1.00

Bookmark

By selling a watch for ¥ 3220, a man gains 15%. At what price should he sell it to gain 25%7? (In )
6515\ 95q T 3220 69 Y9E AR G6E QUB 15% MR FAE | 25% MR ARG IR 69 VGTG 66 FJRYER
S0% K99I IQaUR? (Z 69)
(A) O 3520

3520
(B) O 3490

3490
(C)O 3510

3510

(D) O 3500 (Correct Alternative) (Choosen Option)
3500 (Correct Alternative) (Choosen Option)

Question No. 12 1.00
Bookmark
Find the surface area of the sphere, given radius is 5 cm and m = 3.14. (In sz)
™ = 3.14 60 I9° QUIFIS 5 cm 2IS1 65115 6FIRAE YRR 6TCTR A a9 | (cm? 69)

(A) O 324
324
(B) © 314 (Correct Alternative) (Choosen Option)
314 (Correct Alternative) (Choosen Option)
(C)O 334
334
(D) O 344
344

Question No. 13 1.00
Bookmark
If 30% of a certain number is 705, then what is 70% of that number?
A9 99 TG 2°0UIR 30% QA AALNE 705 99, 6969 69T A°GIUIR 70% 6R6S 6287
(A) O 1645 (Correct Alternative) (Choosen Option)
1645 (Correct Alternative) (Choosen Option)
(B) O 1649
1649
(C)O 1647
1647
(D) O 1651
1651

Question No. 14 1.00

Bookmark
A person saves 25% of his monthly salary after expenses. If his expenses for the month is ¥ 33375, then
find his monthly salary. (In %)
@66 Q4B §I6 FAIU6R SIF FITR QRN 25% AR KT | AT SIFR FITAR §1F T 33375 99 6667 CIFA
AI8e @9l 4o a9 | (2 69)
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(A) O 43500
43500
(B) O 41500
41500
(C) O 42500
42500
(D) O 44500 (Correct Alternative) (Choosen Option)
44500 (Correct Alternative) (Choosen Option)

Question No. 15 1.00

Bookmark

If a man covers the first half of the journey at 262 kmph and the second half of the journey at 393 kmph,
find the average speed of the total journey. (In kmph)
AT 968 QU3 LIGIA YalFt 2A6TR QRS 262 kmph 99° §01 2esa Q@I 393 kmph 696169 AGTE AT,
6569 9°94 QISIA YR 699 F4a 8 | (kmph 69)
(A) O 3154

315.4
(B) O 314.4 (Correct Alternative) (Choosen Option)

314.4 (Correct Alternative) (Choosen Option)
(C)O 3134

313.4

(D) O 316.4
316.4

Question No. 16 1.00
Bookmark
A train covers a distance between two stations Pune and Thane in 13 hours. If the speed of the train is
reduced by 99 km/hr, then the same distance is covered in 14.5 hours. Find the distance between Pune
and Thane. (In km)
65159 697 9RT 6V Y6 B 26T FIIER LAEIg 13 Jeleal Q°€]§ P68l | JT 6599 696165 99 km/hr €1
QQUAN, 66069 IHIR QACIg 289¢ 999! AR 14.5 Q& RSS! | g6Q B 2I6a FRIER QS| oda ea | (km
69
(A) O 12421
12421
(BYy O 12431
12431
(C) O 12441 (Correct Alternative)
12441 (Correct Alternative)
(D) O 12451
12451

Question No. 17 1.00
Bookmark
Find the value of x.
(31%11+77x11+12x11)+(112-V841+28) = x
X Q IRY FRAE [ |
(31 ><11+7?x11+12x11)+(112-\4'841+28} =X
(A)O 15
15
(B) O 11 (Correct Alternative) (Choosen Option)
11 (Correct Alternative) (Choosen Option)

©o 17
17

(D)o 13
13

Question No. 18 1.00
Bookmark
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Profit earned by selling 1200 articles is equal to the cost price of 240 articles. Find the profit percentage.
1200 & QIFIEI1R @G IR 62RQ2JS| AW, 240 T IAGNA G2 FMY A6 AR | S986! RN fdaaq |
(A) O 35
35
(B)O 30
30
(C) O 25 (Choosen Option)
25 (Choosen Option)

(D) O 20 (Correct Alternative)
20 (Correct Alternative)

Question No. 19 1.00

Bookmark

Pipe A can fill a tank in 339 minutes and Pipe B can fill the same tank in 678 minutes. If both pipes are
opened together, how many minutes will it take to fill the empty tank?
dIRd A 6615\ S1aq 339 AGc6R Q¢ KRIER 9e° ARG B £t 692 §IRg 678 A6 9d et | 9@
Qe ARG 910 65IR G2, 68969 IR SI@T €]§1 623 UIR 66698 ARG afg AIFe?
(A) O 228

228
(B) © 226 (Correct Alternative) (Choosen Option)

226 (Correct Alternative) (Choosen Option)

(C)O 224
224
(D) O 230
230
Question No. 20 1.00
Bookmark
Find the smallest number which when reduced by 15, is divisible 22, 26 and 6.
609 YO A°UIQ 15 TEAIT K6 SEAIGIFR 22, 26 G 6 IS FRURY 629 |
(A) O 883
883
(B) O 873 (Correct Alternative) (Choosen Option)
873 (Correct Alternative) (Choosen Option)
(C)O 893
893
(D) O 903
903
3) Analytical Reasoning and Mental Ability
Question No. 1 (Case Study From Q.No 2 To 4) 3.00
Bookmark
Directions:
In a certain code language:
'tangy and tasty meal' is coded as 'wan ban yan lan’,
'spicy tangy tasty food' is coded as 'yan pan ran wan',
'sweet and tasty meal' is coded as 'van lan wan ban’,
'sweet spicy fresh food' is coded as 'han ran van pan’
GeCHINR:
49 QEY 6519 QUTER :
'tangy and tasty meal' § 'wan ban yan lan' @I6€ 681¢ UK,
'spicy tangy tasty food' @ 'yan pan ran wan @I6S 6912 RURE,
'sweet and tasty meal' § 'van lan wan ban’ GI6S 6919 RUIIRNE,
‘'sweet spicy fresh food' @ 'han ran van pan' @I6S 691% FAUARE
Bookmark

What does the cod_e 'han' stand for?
6R1¢ 'han' R12] AR AE|?
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(A) O sweet
sweet
(B) O fresh (Correct Alternative) (Choosen Option)
fresh (Correct Alternative) (Choosen Option)
(C)O spicy
spicy
(D) O food
food

Bookmark
What is the code for 'spicy’ in the given code language?

d9e 6qle QURIET! 'spicy’ o 6Rle @'dl 6997

(A) O wan oryan
wan @€l yan
(B) © ran orwan
ran @€l wan
(C) O panorwan
pan @€l wan
(D) © pan or ran (Correct Alternative) (Choosen Option)
pan @€l ran (Correct Alternative) (Choosen Option)

Bookmark
What is the code for 'tasty’ in the given code language?

Jdee 6qle QIYIes! tasty' ol 6% @'6l 6297

(A) O wan (Correct Alternative) (Choosen Option)
wan (Correct Alternative) (Choosen Option)

(B) O lan

lan
(C) O pan
pan

(D) O ban
ban

Question No. 5 1.00

Bookmark
A sits between B and C. D sits to the South of A and South-East of B. If everyone is facing North, which
direction of B, is C?

BB C A% AQGRE | D, AG Q@465 99° B Q @@a-qéea Qa8 | OT 9969 QAR Q9g ‘{]}f ARG, 6669
B 9 685 Q669 C 99&?
(A) O East (Correct Alternative) (Choosen Option)
QES (Correct Alternative) (Choosen Option)
(B) O South
Q-8
(C) O North
LR
(D) O West
as8Lel

Question No. 6 1.00
Bookmark
Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given
series?
(1), (2), (3), (4) QULE P€lR 6L @ﬂﬁlﬁl@ [ 666 8%, 99Q §7IR Jeal 8 6297

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

(A) O 1 (Correct Alternative)
1 (Correct Alternative)

B)O 2
2

(C) O 4 (Choosen Option)
4 (Choosen Option)

Do 3
3

Question No. 7 1.00
Bookmark
Find the next number in the series.
3,15, 25, 375, 395, 9875, ?
g9oa 769 JRS6! QoGS Fda aa |
3, 15, 25, 375, 395, 9875, ?
(A) O 9890
9890
(B) © 9905 (Correct Alternative) (Choosen Option)
9905 (Correct Alternative) (Choosen Option)
(C) O 10080
10080
(D) O 19810
19810

Question No. 8 1.00
Bookmark
Which one of the following images numbered as (1), (2), (3), (4) closely resembles the mirror image of the
given figure? )
(1), (2), (3), (4) QLER PR 6LIRNAL| FIRHS FRIQ 606 8%, 99a 5e9 edé gednan fases dgod 699
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(A)O 3
3
B)O 4
4

(C) O 2 (Correct Alternative) (Choosen Option)
2 (Correct Alternative) (Choosen Option)

D)o 1
1

Question No. 9 1.00

Bookmark
If, in the number sequence 4568133456 88 1, all the odd numbers are increased by three and all
the even numbers are decreased by three, then the new number sequence is arranged in ascending
order, which will be the fourth digit from the right?

UG gea AN 14568133456 88 160 291 I019 2LF L°HUI6R 7 9F S 99° 9919 4
eHYI6R F LIS FAUAN 98° §OR A°lUl §AIG SIRE 98 SFI6R SIRIR SRSITN 6868 SITId K89 9§82 e
6062 6297

(A) O
(B)O
€O

Ww oo o

(D) O 6 (Correct Alternative) (Choosen Option)
6 (Correct Alternative) (Choosen Option)

Question No. 10 1.00

Bookmark
Which of the following symbols should replace the questions mark (?) in the given expression in order to
make the expression ‘S < V' definitely true?

S?I<sL=V>EzR
aRgRIg ‘S < V' § R P69 984 A0S AR 998 JRURIGEa 2] g4 BF (?) 2969 FIRYS 699 Io1R
QAR 219E4R?

S?lsL=V>E2R
(Ao 2
Z

(B) O = (Correct Alternative)
= (Correct Alternative)

€O >
>

(D) O < (Choosen Option)
< (Choosen Option)

Question No. 11 1.00
Bookmark
Find the missing term in the series.
13, 27,7, 335, 1679, 10079
d9OQ 97169 YEAIRYR| A°SYITG ada aa |
13,27, 7, 335, 1679, 10079
(A) O 81
81

(B) © 83 (Correct Alternative) (Choosen Option)
83 (Correct Alternative) (Choosen Option)

(C)O 65
65
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(D) O 74
74

Question No. 12 1.00
Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
Aim, Habit, Objective, Target, Goal ]
GAmEe I6RIT ARIQ SIEAUT IR FEY QAUIUER IR 2T I9° 66T AT F0R 99T | 69T 697
Q769 DM 68 QIL?
Aim, Habit, Objective, Target, Goal
(A) O Aim
Aim
(B) O Target
Target
(C) O Goal
Goal
(D) © Habit (Correct Alternative) (Choosen Option)
Habit (Correct Alternative) (Choosen Option)

Question No. 13 1.00
Bookmark
A boy starts from point A and walks 3km towards West; turns left and walks 6km and turns another left
and walks 3km. He then walks 2km towards North; turns left and walks 7km; turns right and walks 4km.
He then finally walks 11km after turning right and reaches B. How far is A from B?
65159 QInR 89 A Q 2o /% dsla GP6R 3km SleM; GI'U6R QIFIg 9 6km SIMSI T69 IR 2I6R QIFIY
Qﬁl 3km 9l | 6€1 SI'UED RAR 65 2km SRR Qg gjﬁl 7km Glem; BI'deal LILIEg S 4km SI6M |
69 69196 GILIAG §MS! Y6 11km LI 9S° B 62 9264 | B 0IQ A 696G 9060 AR?
(A) O 4km (Correct Alternative) (Choosen Option)
4km (Correct Alternative) (Choosen Option)
(B) O 2km
2km
(C) O 8km
8km
(D) O 6km
6km

Question No. 14 1.00

Bookmark
In this question, relationship between different elements is shown in the statement. This
statement is followed by two conclusions:
Statements: G<N; R>O;N=AE=G; R=A
Conclusion:
i)O<A
iyN=E

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Eitheri or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

9L 9969 f01g QUILIR F-IER 2SI ﬂ“ﬂﬁf@ LRLY6EH 5o FALINE | 9T S U6 g% aad
LeULINE:

R G<N;R>0O;N=AE=G R=A

fad:

i)O<A

iyN=zE

FANGC T9FY0R FRIQ QUYL T/F SAF 998
(A) 6297 F9d | AG90E K69

Join Us-



https://telegram.me/techofworld
https://youtube.com/techofworld
https://facebook.com/sujitkumarnaik123
https://play.google.com/store/apps/details?id=com.tech.edu
https://play.google.com/store/apps/details?id=com.tech.edu

Download Tech Of World App ~ WtsApp/Call- 8596976190

(B) 6aan Gad il 20998 [68

(C) Pud i Qe ii ARG @6Q
(D) @ad | @ i AFARE F6R GIE
(E) @02 894 | 8 ii 29IRE F6Q |
(A) O

(B) O
©O0

OO 00 mw

(D) O A (Correct Alternative) (Choosen Option)
A (Correct Alternative) (Choosen Option)

Question No. 15 (Case Study From Q.No 16 To 20) 5.00
Bookmark
Directions: Read the given information carefully and answer the questions that follow.
Seven friends M, N, O, P, Q, R and S sit in a straight row. Out of seven, some face north and some face
south, not necessarily in the same order.
a) P and S are neighbours and neither one of them sit in the end of the row.
b) Except N and P, everyone faces the same direction.
) M sits in the middle of the row.
) There are exactly three people between O and Q.
) N sits second to the right of M.
f) S sits fifth to the left of R.
g) Q, who faces south, doesn't sit at any of the ends.
FEEHINR: TAULINRIGI ORI FIFCLR LS 98° gEgEea aaa Gag | _
a6 @4 €Ik M, N, O, P, Q, R 6 S 66115 QI 21IF6R 988 | 96 @l FRIQ 0R Q99g 19° &8 efdg g
@0 9E8T | 9€ 901 L9l /g gesz“ I
a) P B S Q62161 215G 99° 627G FIQ 66€ @ 6m143 91869 99 QRIS |
b) N B P 4216, 9764 Q9Ie Gaq 91‘5 Ro&8 |
c) M AIZR f1869 Q8RS |
d) O B Q 7186% 0% 57 @6l @4KT |
e) M Q 21916 8% §619 ZIg6a N 948 |
f) R Q QI 8% Q8¢ GIFeQ S 92K | .
g) @R8g ?;LQUQ@IEJQI Q 69169 QISR /4 QIR |

c
d
e

Bookmark
Who sits at the fifth position from the left end of the row?

AT QI QISR 9894 2IF6R @9 9IR?
(A O S
S

(B) © Q (Choosen Option)
Q (Choosen Option)
(C) O P (Correct Alternative)
P (Correct Alternative)

OO N
N

Bookmark
Who sits third to the left of M?

M Q QIfl 62 §o16, 2IF6Q &9 QaR?

A O S
S
(BYO N
N

(C) O O (Correct Alternative) (Choosen Option)
O (Correct Alternative) (Choosen Option)
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DO R
R

Bookmark
Who sits exactly between M and S?

MG S @ 0f (86 &9 e8a?
A O O
o}

(B) O P (Correct Alternative) (Choosen Option)
P (Correct Alternative) (Choosen Option)

(C)O N
N

DO Q
Q

Bookmark
Who sits third to the right of the one who sits second to the right of N?

N Q GITIE ¢ §616 FIN6Q QLRI IFPR BITIE 96 O JIF6R & QL&?
(A) O
(B O
© o

OO0 DU ==

(D) O R (Correct Alternative) (Choosen Option)
R (Correct Alternative) (Choosen Option)

Bookmark
Which of the following is the odd man out, with respect to the arrangement?

QUegl ALI6R FIRYE FRIQ 664G ALGFS (odd man out) 2662

(A)O PS
PS
(B)O RN
RN
() o am
Qam
(D) O 0OAQ (Correct Alternative) (Choosen Option)
0Q (Correct Alternative) (Choosen Option)

Question No. 21 1.00

Bookmark
Four of the following five are alike in a certain way and so form a group. Which is the one that does not
belong to that group?
Z, X, 0 FB .
FImGe AICHIT CRIQ QIGQI"S‘ 98 GGY QN6 YRIAR 2SS 9e° 6815 ae)@ 9l0F 998 | 600 648
AFL6R DM 689 QI&?
Z, X, 0 FB

(A) O

C
O
M7 NN XX

(D) © O (Correct Alternative) (Choosen Option)
O (Correct Alternative) (Choosen Option)
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Question No. 22 1.00

Bookmark
If in the word AFFECTIONATE, all the consonants are replaced by the next letter in the alphabet and all
the vowels are replaced by the previous letter then all the letters are arranged alphabetically, which will be
the fifth letter from the left?

Q@ 619 AFFECTIONATE 6% 251 9619 QY86 94, Aeald @dainl 29269 9966l 28 FIRl 96° 9918 99
94 geeel 299 FI0l 9ELITe 6291 969 9919 AVRYEY IR AGLEA AR RSN 6661 QlIFl FeQ
AS¢ 2V 699G 62972

(A)O N
(B)O
© 0O

LiZE B

(D) O G (Correct Alternative) (Choosen Option)
G (Correct Alternative) (Choosen Option)

4) Computer and Internet Awareness

Question No. 1 1.00
Bookmark
The memory dedicated for computer graphics is )
QFMNEQ I (computer graphics) DR QE| 671611 Qi |
(A) O CPU (Choosen Option)
CPU (Choosen Option)
(B) O ROM
ROM
(C) O GPU (Correct Alternative)
GPU (Correct Alternative)

(D) O FPU
FPU
Question No. 2 1.00
Bookmark
In Microsoft Excel, key combination can be used to display the formulas entered in a cell.

AIREFIIE 6§ (Microsoft Excel) 6% 615 64 (cell) ol EMGIAIMEQ| FPACImIg gede aQQ!l ale
@1 RE6298 (key combination) § QULLIQ FAARURS |
(A) O Ctrl key + ) symbol
Ctrl key + ) symbol
(B) O Ctrlkey + ] symbol
Ctrl key + ] symbol
(C) O Ctrl key + " symbol (Correct Alternative)
Ctrl key + * symbol (Correct Alternative)
(D) © Citrl key + * symbol (Choosen Option)
Ctrl key + * symbol (Choosen Option)

Question No. 3 1.00

Bookmark
In PowerPoint, which of the following views will display each slide at the top of a page where you can add
speaker notes?

dIgIR 994 (PowerPoint) 691 Famse 69Q @Y 69 69115\ 69R (page) O QU RIFER L6BUR YRS gedie
699, 640169 218 G 6518 (speaker notes) 641IE AIREL?
(A) O Notes page (Correct Alternative)
60199 6U% (Notes page) (Correct Alternative)
(B) © Reading view
Q@° Q4 (Reading view )
(C) O 3D view
3D @M (3D view)
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(D) O Speaker page (Choosen Option)
29Q 6% (Speaker page) (Choosen Option)

Question No. 4 1.00

Bookmark
The application used for wewmg web pages is known as

£4Q 699947 6949l IR USLIR 6222 AIGERIS (application) @L qeldh |
(A) O PowerPoint
digior &k (PowerPoint)
(B) O Email
@6EIm (Email)
(C) O Browser (Correct Alternative) (Choosen Option)
IR (Browser) (Correct Alternative) (Choosen Option)
(D) O MS Word
MS @I¢ (MS Word)

Question No. 5 1.00
Bookmark
The blinking symbol on the computer screen when you open any text editor is called
AITE 66169 6575 ISR (text editor) 65IRSI IR FFYCR F& QU6 G KRS A9 (bhnklng
symbol) q QeI |
(A) O Logo
6mlesll (Logo)
(B) O Palm (Choosen Option)
di€l (Palm) (Choosen Option)
(C) O Cursor (Correct Alternative)
@4 (Cursor) (Correct Alternative)
(D) O Mouse
Alwd (Mouse)

Question No. 6 1.00

Bookmark
is a computer, that is integrated into devices and is dedicated to the functions of a specific
device.

6@@3 6915°9 AFNER JITI CRIRAYES 986 REGHS 6TIRN2IN 99° 69115 a9 2RIRA

P aig Q K1 |Re |
(A) O Robotic computer

6QUERITR RS (Robotic computer)
(B) © Server

69 (Server)
(C) O Mainframe (Choosen Option)

ee196cFel (Mainframe) (Choosen Option)
(D) O Embedded computer (Correct Alternative)

Y6562 ¢ KLU (Embedded computer) (Correct Alternative)

Question No. 7 1.00
Bookmark
The interface between the motherboard and an external device is called
A996Q1E (motherboard) ¥5° 9& Q124 SQIRE (external device) F1I6Q0 ! 9@‘6168’9] (interface) §
Quidng |
(A) O Register (Choosen Option)
6R/D (Register) (Choosen Option)
(B) O Switch
g9 (Switch)
(C) O Port (Correct Alternative)
cald (Port) (Correct Alternative)
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(D) © Bus
Q¢ (Bus)

Question No. 8 1.00
Bookmark
How many binary digits are needed to represent all 16 hexadecimal symbols?
a79g 16 § 62516930IR 9618 (hexadecimal symbols) 959 QUgIT¢ SQURS! QIR 696215 FIRRIN A
(binary digits) 2lel4a?
(A) O Four (Correct Alternative)
FI6RUT (Correct Alternative)
(B) O Sixteen
6LRT
(C) © Two (Choosen Option)
Q@& (Choosen Option)
(D) O Eight
2108

Question No. 9 1.00
Bookmark
allows the Internet User to move a file from one computer to another on the Internet.
QQEES ILIAYER 65115 FIRG 665N QEUTAQ 2AFY FEUSAG JIRISA AR IR REEES L9 (Internet
User) q LIy e |
(A) O DvD
DVvD
(B) © Floppy disk
G0 @9 (Floppy disk)
(C)O CD
CD
(D) O FTP (Correct Alternative) (Choosen Option)
FTP (Correct Alternative) (Choosen Option)

Question No. 10 1.00
Bookmark
Which of the following uses high-frequency radio waves instead of cables for connecting the devices in
LAN?

LAN 69 GRIRAYEQ I°S @3l QIR QMG AR 6965, 6R9M QYEQ LIR-TFR6Ead 6986 9°6l (high-
frequency radio waves) SYSEIR FRIN?
(A) O Bluetooth LAN

(B) © Wireless LAN (Correct Alternative) (Choosen Option)

6G2I6mY LAN (Wireless LAN) (Correct Alternative) (Choosen Option)
(C) © Wired LAN

682 LAN (Wired LAN)
(D) O FiberGlass LAN

FIRNSR G LAN (FiberGlass LAN)

Question No. 11 1.00

Bookmark

The Excel function to remove decimal or fractional part of the number is: ]
69159 2°HNIQ QEIAR @€l @FI°8l QIS (decimal or fractional part) § @51 IR SUSTIR 62WelQl degm
P@da (Excel function) @ QLI |
(A) O AVG

AVG
(B) O REPLACE

REPLACE

(C) © TRUNC (Correct Alternative) (Choosen Option)
TRUNC (Correct Alternative) (Choosen Option)
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(D) O ABS
ABS

Question No. 12 1.00

Bookmark
is used in news articles and documents to make the first character of a paragraph larger taking
up several lines of text.

69999 26 UEYRF 65 65159 AAGIPA FoIEl 2AVRG AAVFS 98 2R AR GUR ATER 6 2F6AQ
(news articles and documents) 621 QUL [ULIIN] |
(A) O Drop cap (Correct Alternative) (Choosen Option)
“d @4Id (Drop cap) (Correct Alternative) (Choosen Option)
(B) O Word art
@lg 25 (Word art)
(C) O Clipart
qa2g' (Clipart)
(D) O All caps
2 @4Id (All caps)

Question No. 13 1.00

Bookmark
What is the shortcut key to delete one character to the left?

Qlfl ¢ 66115 2V BRE KA IR SRS &1 (shortcut key) /€12
(A) O Right arrow
QUG 26 (Right arrow)
(B) O Left arrow
em<E 2eql (Left arrow)
(C) O Backspace (Correct Alternative) (Choosen Option)
QUIe64d4d (Backspace) (Correct Alternative) (Choosen Option)
(D) O Delete
@RE (Delete)

Question No. 14 1.00

Bookmark
Which generation of computers introduced Parallel processing and Superconductors?

690 66696999 AFUTRER, VUMM 6I69L° (Parallel processing) B YAQARELDR (Superconductors) Q
UILIR I 6L IRIWI ?
(A) © Fourth
ogsel
(B) © Fifth (Correct Alternative) (Choosen Option)
dgel (Correct Alternative) (Choosen Option)
(C) O Third
Lo
(D) © Future
g (Future)

Question No. 15 1.00

Bookmark
Which among the following parts of the computer is referred to as Monitor?

AR FINGS 2cHPER FRIQ 6RATY FIFTR (Monitor) RIS 6QAFA FRIAN?
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(A) O VDU (Correct Alternative) (Choosen Option)
VDU (Correct Alternative) (Choosen Option)
(B) O ALU
ALU
(C)O USB
USB
(D) CPU
CPU

Question No. 16 1.00

Bookmark
What is PROM?

PROM @'é€1?
(A) O Processor ROM
6416995 ROM (Processor ROM)
(B) O Peripheral ROM
6ARECPUR ROM (Peripheral ROM)
(C) O Programmable ROM (Correct Alternative) (Choosen Option)
64dIgliee1Igm ROM (Programmable ROM) (Correct Alternative) (Choosen Option)
(D) O Productive ROM
Jege ROM (Productive ROM)

Question No. 17 1.00

Bookmark
The metal pen-like tool with a rubber tip used to interact with the touchscreen device is called

AQIUS (interact) SRS AIN TGS (touchscreen) FRING TG FULLIR 62RS! IF Q9R T'U YR UGS
699 @ (metal pen-like) QUKASIG QeI |
(A) O Mouse
¢llwd (Mouse)
(B) O Laser pen (Choosen Option)
emuQ 64e (Laser pen) (Choosen Option)
(C) O Keyboard
@1691% (Keyboard)
(D) O Stylus pen (Correct Alternative)
Ainmd 649 (Stylus pen) (Correct Alternative)

Question No. 18 1.00
Bookmark
What is the shortcut key in MS Word to apply '‘Change case'?
MS @lg (MS Word) 691 'Change case' IR 969E Q1 (shortcut key) "6l 21697
(A) O Shift+L
Shift + L
(B) O Shift + F3 (Correct Alternative) (Choosen Option)
Shift + F3 (Correct Alternative) (Choosen Option)
(C) O Shift+F2

Shift + F2
(D) O Shift+$S
Shift+ S
Question No. 19 1.00
Bookmark
The _ feature of Microsoft Word helps you to create professional formats.
AIReIdE @l$ (Microsoft Word) 6@ 29 6Q9YN 2Idig 69159 geradalm <relle (professional

formats) G2 AR AIFIAY [ER |
(A) © mail merge
6¢1m ag (mail merge)
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(B) O template (Correct Alternative)

69'¢16me (template) (Correct Alternative)
(C) O gallery

QIem (gallery)
(D) O formatting tools (Choosen Option)

creliige g'm (formatting tools) (Choosen Option)

Question No. 20 1.00
Bookmark
is a full volume encryption feature included with Microsoft Windows versions.
FAIRERIAL G6AIR A°LAEIYBRER (Microsoft Windows versions) SIFm 2Q! 65115 Q“Qeﬁ QUYL

4eGa9a 684 (full volume encryption feature) 2I6S' |
(A) © Task scheduler (Choosen Option)

219 695YMA (Task scheduler) (Choosen Option)
(B) O Defender

@62r4Q (Defender)
(C) O BitLocker (Correct Alternative)

§G‘$ﬁl€?@ (BitLocker) (Correct Alternative)
(D) © Registry editor

@89G (Registry editor)

5) Current Affairs National and International

Question No. 1 1.00
Bookmark
Which of the following Cities of India is included in the 'world's greatest places of 2022' published by TIME
magazine?

TIME 98! (TIME magazine) {5 JdRIEG 2022 Q G99 AS68 Qe (‘'world's greatest places of 2022') 6%,
PYNEe I AR 656 999 I8 AIRR?
(A) O Bengaluru
6SPIRE
(B) © Mumbai
£1elw
(C} O Ahmedabad (Correct Alternative) (Choosen Option)
AefeISle (Correct Alternative) (Choosen Option)
(D) © Bhubaneswar
WIEeRYAN

Question No. 2 1.00

Bookmark
According to the 2022 Forest Declaration Assessment report, which country was the world's largest
contributor to deforestation in 20217

2022 PEQE GRleada EIISQ]EJGQQ- Qealg (2022 Forest Declaration Assessment report) 2Ig4l6Q, 2021 691
Fga EJ@IQQ AEPRIL 69R 69969 6L|D2IMmI?
(A) O Brazil (Correct Alternative)
SIRM (Correct Alternative)
(B) O China (Choosen Option)
21 (Choosen Option)
(C) O India
[alialy
(D) O United States of America
LAY, 20

Question No. 3 1.00

Bookmark
Which Indian Origin Professor has won the prestigious Global Energy Prize for the year 20227

QNG (RN 662 J6ras, 9 2022 69 ARIFGRR 6FSIR I9G YORIR (Global Energy Prize) @eag?
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(A) O Kaushik Rajashekara (Correct Alternative) (Choosen Option)
6SIEIe QUREEISIR (Kaushik Rajashekara) (Correct Alternative) (Choosen Option)
(B) O Irina Tazhibaeva
R S1@629! (Irina Tazhibaeva)
(C) O Ron Hui
6% €@ (Ron Hui)
(D) O Praveen Jain
9916 6@% (Praveen Jain)

Question No. 4 1.00
Bookmark

In October 2022, India's first ‘Migration Monitoring System' has been inaugurated in which among the
following cities? ]
26]ITR 2022 69 VRS F2IF1 'FIR6ILe RSP A%l (Migration Monitoring System)' #IREE 689
ALR6R QLATE 6TINR?
(A) © Thiruvananthapuram

GReaegar
(B) © Chennai (Choosen Option)

6220 (Choosen Option)
(C) © Guwahati

6qlQIg
(D) © Mumbai (Correct Alternative)

£l (Correct Alternative)

Question No. 5 1.00

Bookmark
Benjamin Netanyahu was recently sworn in as the Prime Minister of which. among the following
Countries?

FIARNEG 6945TR FUR 60R 696N UL S AES CI°YTS 69GIAG 69GIGUIS (Benjamin Netanyahu)
§1d2l 9Ld anlem?
(A) O Israel (Correct Alternative) (Choosen Option)
@ENMm (Correct Alternative) (Choosen Option)
(B) O Ukraine
gege
(C) O Lebanon
cmelaq
(DY Turkey
o

Question No. 6 1.00

Bookmark
Gaganyaan, which appeared in the news recently, is related to which among the following?

APYER FR6R AR FFRKIF (Gaganyaan) FIRYE FRIQ 60QE ATC GG 2687
(A) O Human Spaceflight Programme of India (Correct Alternative)

LY1e 694G 649Nl 2P @482l (Human Spaceflight Programme of India) (Correct
Alternative)

(B) O India's Nano Technology Mission

BIRER G165 65R6gIeMIT TGS (India's Nano Technology Mission)
(C) O India's Anti-satellite missile Mission

AL AE-6TARS AR AAR (India's Anti-satellite missile Mission)
(D) O Intercontinental Ballistic Missile (ICBM) of India

4RGN SImMES Aam (ICBM)AP @82l (Intercontinental Ballistic Missile (ICBM) of
India)

Question No. 7 1.00
Bookmark
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Which of the following countries has topped the Mercer CFA Institute Global Pension Index 20227
ada CFA ag‘@gqg 6ol 6999 6edlg 2022 (Mercer CFA Institute Global Pension Index 2022) 6
GANGYS 699 64 SNdeq 2AR?
(A) O Iceland (Correct Alternative)
dIRdmi€l (Correct Alternative)
(B) © England
D °mel
(C) O United States of America
IBQUY, IR
(D) O France
I,

Question No. 8 1.00

Bookmark
Which country will host the 2024 summer Olympic games?

2024 919 ARAR 6817 (2024 summer Olympic games) 62 624l 2ICAFE FG?
(A) O France (Correct Alternative) (Choosen Option)
&Is, (Correct Alternative) (Choosen Option)
(B) O England
R°mel
(C) O Qatar
@GR (Qatar)
(D) O India
QRS

Question No. 9 1.00
Bookmark
India has recently signed the Kushiyara River Treaty with which among the following Countries?
AINGIS 690 6949 986 WG APPSR a2 Q1 98 (Kushiyara River Treaty) I8 @0&?
(A) O Bhutan
ol
(B) O Nepal
6adiml
(C) © Bangladesh (Correct Alternative) (Choosen Option)
LUGPMIGLS (Correct Alternative) (Choosen Option)
(D) O Pakistan
dagia

Question No. 10 1.00

Bookmark
India's first indigenously manufactured aluminium freight train rake was inaugurated in which among the
following states in October 20227

26RISR 2022 63 VINSER IRIFEHIINER G518 QA 2RTFA AIRSIE 689 69 (aluminium freight train
rake) FIMEG 609 QAR ALAITE 6LIRAMI?
(A) O Andhra Pradesh
aIg 9694l
(B) O Karnataka
adiee
(C) © Odisha (Correct Alternative) (Choosen Option)
(%41l (Correct Alternative) (Choosen Option)
(D) © Bihar
LI
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